
Multiply by 10⁻² (C)Find each product.
35 × 10⁻² = 39 × 10⁻² =
80 × 10⁻² = 11 × 10⁻² =
88 × 10⁻² = 67 × 10⁻² =
86 × 10⁻² = 56 × 10⁻² =
17 × 10⁻² = 78 × 10⁻² =
53 × 10⁻² = 14 × 10⁻² =
87 × 10⁻² = 18 × 10⁻² =
87 × 10⁻² = 56 × 10⁻² =
99 × 10⁻² = 50 × 10⁻² =
98 × 10⁻² = 86 × 10⁻² =

Math-Drills.Com



Multiply by 10⁻² (C) AnswersFind each product.
35 × 10⁻² = 0,35 39 × 10⁻² = 0,39
80 × 10⁻² = 0,8 11 × 10⁻² = 0,11
88 × 10⁻² = 0,88 67 × 10⁻² = 0,67
86 × 10⁻² = 0,86 56 × 10⁻² = 0,56
17 × 10⁻² = 0,17 78 × 10⁻² = 0,78
53 × 10⁻² = 0,53 14 × 10⁻² = 0,14
87 × 10⁻² = 0,87 18 × 10⁻² = 0,18
87 × 10⁻² = 0,87 56 × 10⁻² = 0,56
99 × 10⁻² = 0,99 50 × 10⁻² = 0,5
98 × 10⁻² = 0,98 86 × 10⁻² = 0,86
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